



नाम: _____

दिनांक: _____ स्कोर: _____

$$(-8)^2 + (-3) =$$

$$8^{(-2)} + 6 =$$

$$9^{(-1)} - 10 =$$

$$(-2)^0 + 10 =$$

$$(-6)^{(-2)} + 5 =$$

$$(-6)^2 + 10 =$$

$$(-1)^2 + (-4) =$$

$$(-7)^{(-1)} - (-3) =$$

$$10^0 - (-2) =$$

$$2^{(-2)} - 2 =$$

$$(-3) + (-2) =$$

$$(-9)^{(-2)} - (-9) =$$

$$8^{(-2)} - (-5) =$$

$$4^2 + 7 =$$

$$(-7) + 5 =$$

$$(-5)^0 - (-2) =$$

$$10^{(-1)} + 8 =$$

$$1^2 + 5 =$$

$$5^{(-2)} + 7 =$$

$$1^2 + (-1) =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$(-8)^2 + (-3) = 61$$

$$8^{(-2)} + 6 = \frac{385}{64} = 6\frac{1}{64}$$

$$9^{(-1)} - 10 = \left(-\frac{89}{9}\right) = \left(-9\frac{8}{9}\right)$$

$$(-2)^0 + 10 = 11$$

$$(-6)^{(-2)} + 5 = \frac{181}{36} = 5\frac{1}{36}$$

$$(-6)^2 + 10 = 46$$

$$(-1)^2 + (-4) = (-3)$$

$$(-7)^{(-1)} - (-3) = \frac{20}{7} = 2\frac{6}{7}$$

$$10^0 - (-2) = 3$$

$$2^{(-2)} - 2 = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$(-3) + (-2) = (-5)$$

$$(-9)^{(-2)} - (-9) = \frac{730}{81} = 9\frac{1}{81}$$

$$8^{(-2)} - (-5) = \frac{321}{64} = 5\frac{1}{64}$$

$$4^2 + 7 = 23$$

$$(-7) + 5 = (-2)$$

$$(-5)^0 - (-2) = 3$$

$$10^{(-1)} + 8 = \frac{81}{10} = 8\frac{1}{10}$$

$$1^2 + 5 = 6$$

$$5^{(-2)} + 7 = \frac{176}{25} = 7\frac{1}{25}$$

$$1^2 + (-1) = 0$$